

भारत सरकार **Government of India** सुक्ष्म, लघु एवं मध्यम उद्यम मंत्रालय



Ministry of Micro, Small and Medium Enterprises

UDYAM REGISTRATION CERTIFICATE

UDYAM REGISTRATION NUMBER

UDYAM-DL-09-0001155

NAME OF ENTERPRISE

M/S MADD FOODS

TYPE OF ENTERPRISE *

SNo.	Classification Year	Enterprise Type	Classification Date
1	2024-25	Small	27/04/2024
2	2023-24	Small	09/05/2023
3	2022-23	Small	26/06/2022
4	2021-22	Small	16/05/2021

MAJOR ACTIVITY

MANUFACTURING

SOCIAL CATEGORY OF ENTREPRENEUR

GENERAL

NAME OF UNIT(S)

S.No.	Udyog Aadhaar Memorandum	Unit(s) Name		
1	UP28A0038489	Madd Foods		

OFFICAL ADDRESS OF ENTERPRISE

Flat/Door/Block No.	45	Name of Premises/ Building	Madd Foods
Village/Town	DELHI	Block	Phase 3
Road/Street/Lane	Okhla Industrial Estate	City	DELHI
State	DELHI	District	SOUTH EAST , Pin 110020
Mobile	9810009576	Email:	sumeet@maddfoods.com

DATE OF INCORPORATION / REGISTRATION OF ENTERPRISE

25/08/2009

DATE OF COMMENCEMENT OF PRODUCTION/BUSINESS

01/09/2009

NATIONAL INDUSTRY **CLASSIFICATION CODE(S)**

SNo.	NIC 2 Digit	NIC 4 Digit	NIC 5 Digit	Activity
1	10 - Manufacture of food products	1030 - Processing and preserving of fruit and vegetables	10309 - Preservation of fruit and vegetables n.e.c.	Manufacturing
2	10 - Manufacture of food products	1071 - Manufacture of bakery products	10711 - Manufacture of bread	Manufacturing
3	10 - Manufacture of food products	1075 - Manufacture of prepared meals and dishes	10750 - Manufacture of prepared meals and dishes	Manufacturing

DATE OF UDYAM REGISTRATION

26/10/2020

^{*} In case of graduation (upward/reverse) of status of an enterprise, the benefit of the Government Schemes will be availed as per the provisions of Notification No. S.O. 2119(E) dated 26.06.2020 issued by the M/o MSME.

For any assistance, you may contact:

1. District Industries Centre: DELHI (DELHI)

2. MSME-DFO: DELHI (DELHI)

Visit: www.msme.gov.in; www.dcmsme.gov.in; www.ch











भारत सरकार Government of India सूक्ष्म, लघु एवं मध्यम उद्यम मंत्रालय Ministry of Micro, Small and Medium Enterprises



Udyam Registration Number: UDYAM-DL-09-0001155

Type of Enterprise	SMALL	Major Activity	Manufacturing
Type of Organisation	Partnership	Name of Enterprise	M/S MADD FOODS
Owner Name	M/S MADD FOODS	PAN	AARFM0835A
Do you have GSTIN	No	Mobile No.	9810009576
Email Id	sumeet@maddfoods.com	Social Category	General
Gender	Male	Specially Abled(DIVYANG)	No
Date of Incorporation	25/08/2009	Date of Commencement of Production/Business	01/09/2009

Bank Details

Bank Name	IFS Code	Bank Account Number		
ICICI BANK	ICIC0000815	081505000186		

Employment Details

Male	Female	Other	Total	
20	20	0	40	

Investment in Plant and Machinery OR Equipment (in Rs.)

S.No.	Financial Year	Enterprise Type	Written Down Value (WDV)	Exclusion of cost of Pollution Control, Research & Development and Industrial Safety Devices	Net Investment in Plant and Machinery OR Equipment[(A)- (B)]	Total Turnover (A)	Export Turnover (B)	Net Turnover [(A)-(B)]	Is ITR Filled?	
1	2022-23	Small	11793043.00	0.00	11793043.00	187178407.00	0.00	187178407.00	Yes	ITR - 3, 5, 6
2	2021-22	Small	10923344.00	0.00	10923344.00	125209723.00	0.00	125209723.00		ITR - 3, 5, 6
3	2020-21	Small	11917022.00	0.00	11917022.00	93802620.00	0.00	93802620.00		ITR - 3, 5, 6
4	2019-20	Small	13631097.00	0.00	13631097.00	145069897.00	0.00	145069897.00		ITR - 3, 5, 6

Unit(s) Details

SN	Unit Name	Flat	Building	Village/Town	Block	Road	City	Pin	State	District
1	Madd Foods	F	314	MOHALI INDSUTRIAL AREA		PHASE 8B	MOHALI	160055	PUNJAB	SAS NAGAR
2	Madd Foods	С	76	PHASE 2		HOSIERY COMPLEX	NOIDA	201305	UTTAR PRADESH	GAUTAM BUDDHA NAGAR

Official address of Enterprise

Flat/Door/Block No.	45	Name of Premises/ Building	Madd Foods
Village/Town	DELHI	Block	Phase 3
Road/Street/Lane	Okhla Industrial Estate	City	DELHI
State	DELHI	District	SOUTH EAST, Pin: 110020
Mobile	9810009576	Email:	sumeet@maddfoods.com
Latitude		Longitude:	

National Industry Classification Code(S)

SNo.	Nic 2 Digit	Nic 4 Digit	Nic 5 Digit	Activity
1	10 - Manufacture of food products	1030 - Processing and preserving of fruit and vegetables	10309 - Preservation of fruit and vegetables n.e.c.	Manufacturing
2	10 - Manufacture of food products	1071 - Manufacture of bakery products	10711 - Manufacture of bread	Manufacturing
3	10 - Manufacture of food products	1075 - Manufacture of prepared meals and dishes	10750 - Manufacture of prepared meals and dishes	Manufacturing

No
No
N/A
N/A
N/A
N/A
DELHI (DELHI)
DELHI (DELHI)
26/10/2020
19/07/2024

IEC Details	
IEC Number	
IEC Status	Inactive
IEC Registration Date	
IEC Modifification Date	